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Unit 3 (Chapter 3): Exponential, Logistic, & Logarithmic Functions Pre-Calculus 2016-2017

3.3 Logarithmic Functions & Their Graphs

Target 3B: Know and understand the inverse relationships of exponential and logarithmic equations

SAT Connection
Passport to Advanced Math
14. Use structure to isolate or identify a quantity of interest in an expression
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Example: Jessica opened a bank account that earns 2 percent $ 100+ 2 Z(lap) looﬂ.ozy ZZ(le-OQ
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value of the account after ¢ years.
What is the value of x in the expression?
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Logarithmic Functions

Solution

Logarithmic Form Exponential Form
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. Examnles.
Evaluate the logarithmic expression.
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Using a calculator, evaluate the logarithmic expression.
1. log4 2. In2 3. log,5
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Properties of Logs/NaturaI Logs
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Using the properties of logarithms, evaluate the logarithmic expression
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Solve the equation for x.
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More Practice
Logarthims
https://www.khanacademy.org/math/algebra2/exponential-and-logarithmic-functions/introduction-to-
logarithms/a/intro-to-logarithms
http://www.themathpage.com/aprecalc/logarithmic-exponential-functions.htm
http://www.sosmath.com/algebra/logs/log4/log41/log41.html
http://www.regentsprep.org/regents/math/algtrig/ATE9/logs.htm
https://youtu.be/Z5myJ8dg_rM
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https://www.khanacademy.org/math/algebra2/exponential-and-logarithmic-functions/introduction-to-logarithms/a/intro-to-logarithms
https://www.khanacademy.org/math/algebra2/exponential-and-logarithmic-functions/introduction-to-logarithms/a/intro-to-logarithms
http://www.themathpage.com/aprecalc/logarithmic-exponential-functions.htm
http://www.sosmath.com/algebra/logs/log4/log41/log41.html
http://www.regentsprep.org/regents/math/algtrig/ATE9/logs.htm
https://youtu.be/Z5myJ8dg_rM
http://www.mathkanection.com/uploads/8/4/4/3/84436602/book2.pdf
http://www.mathkanection.com/uploads/8/4/4/3/84436602/book2.pdf

Unit 3 (Chapter 3): Exponential, Logistic, & Logarithmic Functions Pre-Calculus 2016-2017

SAT Connection
Solution
The correct answer is 1.02. The initial deposit earns 2 percent inter-

est compounded annually. Thus at the end of 1 year, the new value of the
account is the initial deposit of $100 plus 2 percent of the initial deposit:

$100 + % ($100) = $100(1.02). Since the interest is compounded annually,

the value at the end of each succeeding year is the sum of the previous
year's value plus 2 percent of the previous year’s value. This is again equiva-
lent to multiplying the previous year’s value by 1.02. Thus, after 2 years, the
value will be $100(1.02)(1.02) = $100(1.02)% after 3 years, the value will be
$100(1.02)% and after f years, the value will be $100(1.02)". Therefore, in the
formula for the value for Jessica’s account after f years, $100(x)’, the value of
x must be 1.02.



